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FACULTY OF COMMERCE
om. (First Year) (Second Semester) EXAMINATION
OCTOBER/NOVEMBER, 2017
BUSINESS MATHEMATICS AND STATISTICS
(MCQ & Theory)

(Friday, 13-10-2017) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40
N.B. .— () Solve Question No. 1 on OMR sheet.
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Question No. 1 and Question No. 2 are compulsory.
All questions carry equal marks.

Simple calculator is allowed.
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1. Multiple Choice Questions : 10
TEIARE T
() Base year price and base year quantity are shown by :
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Po1 = Z;(I)le x 100 this formula is :
(@) Laspeyre’s index (b) ~ Paasche’s index
(¢) Fisher’s index (d) None of these
pot = Z;Z X 100 T TG e -y
(@  reaEcEr fderes (b)  HE=E TR
¢ Treren fademes (d) et G
The formula of simple interest is :
(@) PRL (b) il

100 100
(c) S (d)  PRT x 100

100
Wes =NTE G
(@) s () R

100 100
(c) A (d) PRT x 100

100
A matrix in which the number of rows are equal to number of columns
is called :
(@) Column Matrix (b) Row Matrix
(c) Square Matrix (d) Diagonal Matrix
ST RN UET STT T AT AT TH ST T e gRof
T FRU.
(@ w9 wwe (b) TR HROR
(c) =& |oft (d) o Hwo
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In how many ways can the letters of the word ‘PROBABILITY’ be

arranged ?
(@  99,79,200 (b) 99,79,300
(c) 99,79,400 d) 99,79,500

‘PROBABILITY’ &1 ¥kl 21eR fohcl =1 bR hHeR T=ar A ?
(@) 99,79,200 b) 99,79,300

(c) 99,79,400 (d) 99,79,500

Find the value of 7! :

(@) 5030 (b) 5040
() 5050 (d) 5060
70 D H W o:

(@ 5030 (b) 5040
() 5050 (d) 5060

There are 5 black, 3 red and 2 yellow balls in a bag. 3 balls are drawn
at random. Find the probability that they are of different colours :

by L
®

( i
a) 5

D 1
4 12
TehT SATd 5 s, 3 Tt 37107 2 fioes =g omRa. AUkt 3 W § Sawavl g

R @ ATl T g, THeswar=l dyreaar & ?

(c) d)

(@) b)

N —

1

5

(c) X

3 4 12
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Find the period after which an interest of Rs. 4,800 will be obtained
Rs. 10,000 at rate of 6% p.a. ?
(@) 5 years b) 6 years
(c) 7 years (d) 8 years

TALEY. 6% TIH 10,000 & F 4,800 %. AT oIrE fohdl Frcamast
M ?

(@ 5 ®) 6T
(c) 7 T d) 8 9
(ix) 2IV = 15,700 and XV = 104, cost of Living index number is :
(@) 150.96 (b)  160.96
(c) 170.96 (d) ~180.96
IV = 15,700 =701 5V = 104 2R, R fafe == &
(@) 150.96 (b)  160.96
(c) 170.96 (d)  180.96
(x) Find the value of 1202 ;
(@) 65 (b) 66
(c) 67 (d) 68
120, ¥ Hew o
(@) 65 (b) 66
(c) 67 (d) 68
Theory
Construct the Fisher’s Ideal Index Number of price from the following
information : 10
Commodity Base Year Current Year
Price Quantity Price Quantity
A 06 50 10 56
B 04 60 06 60
C 02 100 02 120
D 10 30 12 24
E 08 40 02 36
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oA

el Alfgdiaer Thy=r oTeyl fevns e

T YN T EeEicich]
ferma i) ferma el
A 06 50 10 56
B 04 60 06 60
C 02 100 02 120
D 10 30 12 24
E 08 40 02 36

In a bag there are 12 yellow, 18 black and 10 green balls. Find out the
probability that one ball will be black, 2 balls will be yellow in at random
drawn at 3 balls. 10

TR dia 12 fiee =g, 18 w1 o7t 10 ffd =g eed @ Sauumei @ (3) =g,
FEA TTA T ¥ F@ o o€ TUaes THdla arel YAl el

Or
EE)

Find the value of :
. 12!
@ z=a)

9!
(ii) (9_4)!'
qed e
' 12!
@ (12-4)

9!
(ii) (9_4)!'

P.T.O.

B2AB85BB697EEDC5BBF8B984CEAS5854



WT' ( 6 ) EN—67—2017

4. If 10
2 4 10 12 -2 0
A= B= C=
6 8 14 16 4 6
Solve (A + B) + C = A + (B + C).
R
2 4 10 12 -2 0
A= B = C=
6 8 14 16 4 6
Heal (A +B)+C=A+ (B + 0.
Or
(feram)
An agent is entitled for a commission of Rs. 700 @ 7% on turnover. Find the
amount of sale.
Teh! AT 7% S0 & 700 HiHeH e R A= fasht Wha wel
EN—67—2017 6
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